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SERM O BRI XIS

RR3—2 BEMICERIHEREINSEHEICRATLEIEN/1)1/2) REEE | V19
[ RERRONE | BMES 01241003 [ 3 | T 1 [ TGt | L DR R TR L]
. SEFMO TIRICHEES 1 H# aERTR
ﬁg TREDBBOEIENOKRES TREDHBEIENOKRES TREDBBORIENOKRES TEEFDHBERILENOKRES
&S X 4 ‘(.%:3 ‘Fﬂn”ﬁb\(r‘bn)wﬁﬁsﬁ jj(giacm%)é R 4 Hﬁﬁ%@(ﬁ;}@ _(%r_s j:(g,)&crf)é R 4 z.g,r‘né) J:ﬁﬁ;b\(r«‘onf)ttr%‘ j:(g,)&crf)é R 4 ﬂﬁﬁ\(i)@tﬁ ‘(.%.3 jj(iifm%)é
7 100kN/m#%# 23 - -~ -|3mZEREZ S -~ - -| 100kN/ Mm%z 5 - -~ -|3mEEZD -~ -
Th st 1.00 | 000 ~ 472 5889 | #nbs | 000 ~ 472 1.80 912 Zzh st 1.00 | 5.00 ~ 5.00 5889 | ThUs | 65.00 ~ 56.00|1.80 912
2 100kN/m#%# 23 -~ -|3mZEREZD -~ -| 100kN/ Mm%z 5 -~ -|3mEEZD -~
Th st 1.001000 ~ 588 73.57 | FhS | 000 ~ 0.00)| 1.60 811 zh st 1.00 | 5.00 ~ 7.00 73.57 | =nRS | 5,00 ~ 7.00 | 1.60 811
3 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/ Mm%z 5 ~ -|3mZEEZ D ~
Th st 1.00| 000 ~ 622 7807 | Fhs | 000 ~ 000|157 7.92 zh st 1.00 | 5.00 ~ 800 78.07 | =nS | 5,00 ~ 800 )| 1.57 7.92
4 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/mM%#BZ 5 ~ -|3mZEEZ D ~
Th st 1.00| 000 ~ 576 7203 | Fhs | 000 ~ 0.00)| 1.59 8.03 zh st 1.00 | 5.00 ~ 6.89 72.03 | TnS | 5,00 ~ 6.89 | 1.59 8.03
5 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/mM%#BZ 5 ~ -|3mZEEZD ~
Th st 1.00 000 ~ 670 84.65 | T4 | 000 ~ 6.70| 1.94 9.79 Zzh st 1.00 | 5.00 ~ 873 84.65 | Thids | 600 ~ 873 | 1.94 9.79
P 100kN/m#%#8Z%| 1.00| 000 ~ 0.01 100.20 |3m%&x#EZ 5 ~ - 100kN/m%#BZ% | 1.00 | 1054 ~ 1058 100.20 |3m%E#EZ3 ~
Th st 1.001001 ~ 780 100.00 | #hds | 000 ~ 780|216 10.92 zh st 1.00 | 5.00 ~ 10.54 100.00 | =4t | 5,00 ~ 1058|216 10.92
p 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/ Mm%z 5 ~ -|3mEEZD ~
ZFh st 1.00 000 ~ 4.74 59.12 | #nst | 000 ~ 0.00] 1.62 819 Thist 1.00|56.00 ~ 5.10 59.12 | #hst | 5.00 ~ 610 1.62 819
3 100kN/m%#8x5%| 1.00| 000 ~ 1.36 120.65 |3m%#BZ % ~ -| 100kN/mi%#8%% | 1.00 | 10.568 ~ 14.91 120.65 |3m%#BZ 5 ~
Zh st 100|136 ~ 9.15 100.00 | Thhst | 0.00 ~ 915|224 11.31 Zzh st 1.00|6.00 ~ 1058 100.00| Ths | 6,00 ~ 1491 | 2.24 11.31
9 100kN/m#%#8x5%| 1.00| 000 ~ 1.76 126.99 |3m%#BZ % ~ -| 100kN/mZz#Bz25% | 1.00 | 10569 ~ 1666 | 126.99 |3m%E#BZD ~
ZFh st 100|176 ~ 9.54 100.00 | Thhst | 0.00 ~ 9.54 | 244 12.31 zh st 1.00|6.00 ~ 1059 100.00| Ths | 6500 ~ 1666 | 2.44 12.31
10 100kN/m%#8Z5%| 1.00| 000 ~ 191 129.41 |3mE#EZ D ~ -| 100kN/mZz#Bz25| 1.00 | 10.88 ~ 19.39| 129.41 |3m%E#BZD ~
ZFh st 100|191 ~ 9.69 100.00 | Thhst | 0.00 ~ 9.69 | 2.24 11.35 zhst 1.00|6.00 ~ 1088 100.00| Ths | 6.00 ~ 1939 | 2.24 11.35
11 100kN/m%#8Z%| 1.00| 000 ~ 188 128.90 |3m%#BZ % ~ -| 100kN/mZz#Bz25 | 1.00 | 10.99 ~ 19.67| 12890 |3m%E#BZD ~
ZFh st 1.00] 188 ~ 966 100.00| Ths | 000 ~ 966|223 11.26 Thist 1.00 | 56.00 ~ 1099 100.00| Fhdst |6.00 ~ 1967|223 11.26
12 100kN/m%#8Z5%| 1.00 | 000 ~ 1.46 122.25 |3m%&#BZ2 5% ~ -| 100kN/mi%#8%% | 1.00 | 11.60 ~ 1883 122.25 |3m&#BZ 5 ~
ZFh st 100|146 ~ 9.25 100.00 | Thlst | 000 ~ 925|216 10.93 Thist 1.00 | 56.00 ~ 11.60 100.00 | =hls | 6.00 ~ 1883|216 10.93
13 100kN/m%Z#z2%| 1.00| 000 ~ 1.27| 119.16 |3mEEZ3 ~ -] 100kN/mi%#8%% | 1.00 | 11.38 ~ 16.83 119.16 |3m%#BZ 5 ~
Zh st 1.00| 127 ~ 9.05 100.00 | #hlst | 0.00 ~ 9.05| 218 11.03 zhist 1.00|6.00 ~ 1138 100.00| ThUs |5.00 ~ 1683|2.18 11.03
14 100kN/m%#8Z%| 1.00| 000 ~ 1.04 115.59 |3m%#BZ 5% ~ -| 100kN/mZz#Bz25 | 1.00 | 11.37 ~ 14.65| 11559 |3m%E#BZD ~
Zh st 100|104 ~ 882 100.00 | #hlst | 0.00 ~ 882|240 12.15 Zzh st 1.00|6.00 ~ 1137 100.00| Ths | 6.00 ~ 14.65| 2.40 12,15
15 100kN/m%#8Z%| 1.00|0.00 ~ 068 110.05 |3m%#BZ % ~ -| 100kN/mi%#8%% | 1.00 | 10.73 ~ 1283 110.05 |3m%#BZ 5% ~
Zh st 1.00| 068 ~ 846 100.00 | #hlst | 0.00 ~ 846|209 10.58 zh s 1.00|6.00 ~ 1073 100.00 | =hlst | 5.00 ~ 1283 2.09 10.58
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FRR3—2 BEEMICERITHEREINSEHEICRATLEIR1/1)2/2) REEE | Wik 194 JE
[ RERONE | BMES 01241003 [ 3 | T 1 [ TGt | L DR R TR L]
. SEFMO TIRICHEES 1 H# aERTR
ﬁg TREDBBOEIENOKRES TREDHBEIENOKRES TREDBBORIENOKRES TEEFDHBERILENOKRES
16 100kN/m%#8Z%| 1.00|0.00 ~ 032 104.72 |3m&E#EZ D -~ - -| 100kN/mi%#8%% | 1.00 | 11.67 ~ 1283 104.72 |3m&E#EZ D -~ -
Th st 1.001032 ~ 810 100.00 | #hus | 0.00 ~ 810\ 1.99 10.04 Zzh st 1.00 | 6.00 ~ 1167 100.00 | =nst | 5,00 ~ 1283 1.99 10.04
17 100kN/m%#8Z%| 1.00|0.00 ~ 043 106.37 |3m%#BZ % -~ -| 100kN/mi%#8%% | 1.00 | 11.18 ~ 1261 106.37 |3m&#BZ 5 -~
Zh st 100|043 ~ 822 100.00 | #hst | 000 ~ 822|203 10.25 zh st 1.00|6.00 ~ 1118| 100.00| ThUs |5.00 ~ 1261|203 10.25
18 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/ Mm%z 5 ~ -|3mZEEZ D ~
Zh st 1.00| 0.00 ~ 640 80.47 | #nst | 0.00 ~ 0.00| 1.61 813 Zh s 1.00 | 56.00 ~ 800 80.47 | #hst | 5,00 ~ 800 | 1.61 813
19 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/mM%#BZ 5 ~ -|3mZEEZ D ~
Th st 1.00| 000 ~ 629 79.05 | Fhs | 0oo ~ 0.00| 1.58 8.00 zh st 1.00 | 5.00 ~ 8.00 79.05 | TnS | 5,00 ~ 800 | 1.58 8.00
20 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/mM%#BZ 5 ~ -|3mZEEZD ~
ZFh st 1.00| 000 ~ 676 85.46 | #nList | 000 ~ 000|159 8.04 Thist 1.00 | 56.00 ~ 9.00 856.46 | #hst | 5.00 ~ 9.00 | 1.59 8.04
21 100kN/m#%# 23 ~ -|3mZEREZD ~ -| 100kN/ Mm%z 5 ~ -|3mZEEZD ~
ZFh st 1.00| 000 ~ 772 9899 | #Fhst 000 ~ 7.72| 1.95 9.87 Thist 100|600 ~ 1197 98.99 | Thls | 6.00 ~ 11.97| 1.95 9.87
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZRD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZRD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh s ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zzh st ~ zhist ~ Thist ~ zhist ~
100kN/m#%# 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZRD ~
Zzh st ~ zh st ~ zhist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZRD ~
Zzh st ~ Thist ~ zhist ~ zhist ~
100kN/m#%# 23 ~ ImEHEZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh st ~ Zh st ~ Zzh st ~ Zh st ~

DiE
JH
Jmf



